

A & S 10.1.47

Scattering

(29/7/2003)

①

$$e^{ikz} = \sum_{l=0}^{\infty} (2l+1) i^l j_l(kR) P_l(\cos \theta)$$

pdf

$$z = R \cos \theta$$

$$P_l(\cos \theta) = C_{l,0}(l, \theta) = \sqrt{\frac{4\pi}{2l+1}} Y_{l,0}(\theta, \phi)$$

$$e^{ikz} = \sqrt{4\pi} \sum_{l=0}^{\infty} \sqrt{2l+1} i^l j_l(kR) Y_{l,0}(\theta, \phi)$$

internal state: $|n, j, m_j\rangle$ end-over-end: $|l, m_l\rangle$

Uncoupled expansion $\psi = \sum_{\substack{n, j, m_j \\ l, m_l}} |n, j, m_j, l, m_l\rangle \frac{f_{j, m_j, l, m_l}(R)}{R}$

Flux: $j = \frac{\hbar}{i} \nabla \psi^* \psi$

$$j_z = \frac{\hbar}{i} \text{Im} \left[e^{-ikz} \frac{\partial}{\partial z} e^{ikz} \right] = \frac{\hbar k}{i}$$

$$\hat{T} = -\frac{\hbar^2}{2\mu} \frac{\partial^2}{\partial z^2}; \quad \hat{T} e^{ikz} = \frac{\hbar^2 k^2}{2\mu}; \quad k \rightarrow k_{n,j}$$

$$E_{n,j} = \frac{\hbar^2 k_{n,j}^2}{2\mu} \quad \sum_{n,j} \epsilon_{n,j}$$

A & S 10.1.1 $h_l^{(1)}(z) = j_l(z) + i Y_l(z) \quad [\text{out}]$

$h_l^{(2)}(z) = j_l(z) - i Y_l(z) \quad [\text{in}]$

~~Ref $\frac{4\pi}{R} \psi(R) = \sum_{n,j} \frac{f_{n,j}(R)}{R}$~~

A & S 10.1.8 $2j_l(z) = \sin(z - \frac{1}{2}l\pi)$

10.1.7 $2Y_l(z) = (-1)^{l+1} \cos(z + \frac{1}{2}l\pi)$

$$2h_l^{(1)} = \sin(z - \frac{1}{2}l\pi) + i (-1)^{l+1} \cos(z + \frac{1}{2}l\pi)$$

$$= \frac{e^{i(z - \frac{1}{2}l\pi)} - e^{-i(z - \frac{1}{2}l\pi)}}{2i} + i (-1)^{l+1} \frac{e^{i(z + \frac{1}{2}l\pi)} - e^{-i(z + \frac{1}{2}l\pi)}}{2}$$

$$\left(e^{i\frac{1}{2}\pi} = i \right)$$

$$= e^{iz} \left[\frac{i^{-l}}{2i} + \frac{i (-1)^{l+1} i^l}{2} \right] \dots e^{-iz}$$

$$i2 h_l'''(z) = e^{i(z - \frac{l\pi}{2})}$$

pdf

24/7/2003 (2)

$$i2 h_l'''(z) = -e^{-i(z - \frac{l\pi}{2})}$$

Flux normalised waves

Def $\frac{u_{njl}(R)}{R} = -i h_l''(h_{n,j} R) \left[\frac{\mu h_{n,j}}{k} \right]^{1/2} \quad \text{in}$

$$\frac{v_{njl}(R)}{R} = i h_l'''(h_{n,j} R) \left[\frac{\mu h_{n,j}}{k} \right]^{1/2} \quad \text{out}$$

Asymptot. $\frac{u_{njl}(R)}{R} = e^{-i(h_{n,j} R - \frac{l\pi}{2})} \left[\frac{\mu}{k h_{n,j}} \right]^{1/2} \quad \text{in}$

$$\frac{v_{njl}(R)}{R} = e^{i(h_{n,j} R - \frac{l\pi}{2})} \left[\frac{\mu}{k h_{n,j}} \right]^{1/2} \quad \text{out}$$

$$j_l(h_{n,j} R) = \frac{h_l''(h_{n,j} R) + h_l'''(h_{n,j} R)}{2}$$

$$= \frac{i h_l''(h_{n,j} R) + i h_l'''(h_{n,j} R)}{2i} \left[\frac{\mu h_{n,j}}{k} \right]^{1/2} \left[\frac{k}{\mu h_{n,j}} \right]^{1/2}$$

$$= \frac{-u_{njl}(R) + v_{njl}(R)}{2iR} \sqrt{\frac{k}{\mu h_{n,j}}}$$

$$e^{i h_{n,j}^2} |n, m_j\rangle = \frac{\sqrt{4\pi}}{2i} \sqrt{\frac{k}{\mu h_{n,j}}} \sum_{l=0}^{\infty} \sqrt{2l+1} i^l [-u_{njl}(R) + v_{njl}(R)] |n, m_j, l, 0\rangle$$

$$= -i \sqrt{\frac{k\pi}{\mu h_{n,j}}} \sum_{l=0}^{\infty} \sqrt{2l+1} i^l [-u_{njl}(R) + v_{njl}(R)] |n, m_j, l, 0\rangle$$

$$\psi_{n,j,m_j} = -i \sqrt{\frac{5\pi}{\mu k_{n,j}}} \sum_{l=0}^{\infty} \sqrt{2l+1} \psi_{n,j,l,0}$$

Solve uncoupled eq with b.c.

$$\psi_{n,j,l,m_j}(R) \approx -u_{n,j,l,m_j}(R) + \sum_{\substack{n',j',l',m'_j \\ m'_j}} \langle n',j',l',m'_j | \psi_{n,j,l,m_j} \rangle u_{n',j',l',m'_j}(R) S_{n',j',l',m'_j; n,j,l,m_j}$$

$$\psi_{n,j,m_j}^+ = -i \sqrt{\frac{5\pi}{\mu k_{n,j}}} \sum_{l=0}^{\infty} \sqrt{2l+1} i^l \psi_{n,j,l,0}$$

check incoming part $\rightarrow 0$ at

out going:

$$-i \sqrt{\frac{5\pi}{\mu k_{n,j}}} \sum_{l=0}^{\infty} \sqrt{2l+1} i^l \sum_{\substack{n',j',l',m'_j \\ m'_j}} \langle n',j',l',m'_j | \psi_{n,j,l,m_j} \rangle u_{n',j',l',m'_j}(R) S_{n',j',l',m'_j; n,j,l,0}$$

asympt $u_{n',j',l',m'_j}(R) \sim e^{i k_{n',j'} R} e^{-i l' \frac{\pi}{2}} \left[\frac{\mu}{k_{n',j'}} \right]^{1/2}$

b.c.

~~incoming in channel n,j,m_j~~

$$e^{i k_{n,j} R} |n,j,m_j\rangle + \sum_{\substack{n',j',l',m'_j \\ m'_j}} \langle n',j',l',m'_j | \psi_{n,j,l,m_j} \rangle e^{i k_{n',j'} R} \frac{1}{R} \times f_{n',j',l',m'_j}(\theta, \phi)$$

$$f_{n',j',l',m'_j}(\theta, \phi) = -i \sqrt{\frac{5\pi}{\mu k_{n',j'}}} \sum_{l=0}^{\infty} \sqrt{2l+1} i^l \left[e^{-i l' \frac{\pi}{2}} \left[\frac{\mu}{k_{n',j'}} \right]^{1/2} \right]$$

$$\sum_{m'_j} \left(S_{n',j',l',m'_j; n,j,l,0} \right) \psi_{n',j',l',m'_j}(\theta, \phi) \psi_{n,j,l,0}^{-1} \delta_{n',j',l',m'_j; n,j,l,0}$$

$$e^{-i l' \frac{\pi}{2}} = i^{-l'}$$

$$\chi_{l',m'_j}(\theta, \phi)$$

$$f_{n'j'm'}(\theta, \phi) = -i \frac{\sqrt{\pi}}{\sqrt{h_{n,j} h_{n',j'}}} \sum_{l,l'} \sqrt{2l+1} i^{l-l'} Y_{l'm'}(\theta, \phi) \left[S_{n'j'm'; m, j, l, 0} - \delta_{n'n} \delta_{j'j} \delta_{m'm} \right]$$

$\equiv T$

radial flux $\frac{1}{r} h_{n'j'}$

$$\frac{d\sigma}{ds} = \frac{j_{out}}{j_{in}} = \frac{h_{n',j'}}{h_{n,j}} \sum_{m,j} |f_{n'j'm'}(\theta, \phi)|^2 \quad j_{m_j} \rightarrow j'm_j$$

$$= \frac{\pi}{|h_{n,j}|^2} \left| \sum_{l,l'} \sqrt{2l+1} i^{l-l'} Y_{l'm'}(\theta, \phi) T_{n'j'm'; m, j, l, 0} \right|^2$$

$$S_{n'j'm'; m, j, l, 0} = \sum_{M} \langle j'm_j, l'm_l | M \rangle S_{n'j'm'; m, j, l, 0}^M \langle M | j'm_j, l'm_l \rangle$$

$$\sum_M \langle j'm_j, l'm_l | M \rangle \delta_{n'n} \delta_{j'j} \delta_{l'l} \langle M | j'm_j, l'm_l \rangle$$

$$= \delta_{n'n} \delta_{j'j} \delta_{l'l} \sum_M \underbrace{\langle j'm_j, l'm_l | M \rangle \langle M | j'm_j, l'm_l \rangle}_{\delta_{m_j m_j} \delta_{m_l m_l} \delta_{M, M}}$$

$$\sigma_{n'j'm'}(\theta, \phi) = \frac{\pi}{|h_{n,j}|^2}$$

$$\left| \sum_{l,l'} \sqrt{2l+1} i^{l-l'} Y_{l'm'}(\theta, \phi) \langle j'm_j, l'm_l | M \rangle \left[S_{n'j'm'; m, j, l, 0}^M - \delta_{n'n} \delta_{j'j} \delta_{l'l} \delta_{M, M} \right] \right|^2$$

$\langle j'm_j, l'm_l | M \rangle$